211bcs

TRAY
WKLAD

' 980x770
x462mm-

 WHEELS ) (

( WEE, ) BALL
=Xy || T ;’;K;s BEARING
V" mm| | £0ZYSKA

oLy
DRAWERS )

| KULKOWE |

(_ ZHAMULCAMI

( CENTRAL )

(NON SLIP )

POLYPROPYLENE
LOCKING LOC K WORKTOP
BLOKADA CENTRALNY ANTYPOSLIZGOWY

_ZAMEK | 3XT _ BLAT

DOUBLE | CORNERBUMPERS | \
WALLS )

PODWOJNE
SCIANY

UNIVERSAL
PERFORATION

UNIWERSALNA
PERFORACJA |

| SZUFLAD |

J

:-""
il_.‘ i

[ty
[t 4
P e A

HiH

e ——— e
: 2 ——

—_— (o o

112" (12.7 mm): 8,9, 10, 11, 12, 13, 14, 15,16, 17, 18, 19, 20, 21, 22, 24 (L=38 mm);
27,30, 32 mm (L=42 mm),
114" (6.3 mm): 4,4.5,5,5.5,6,7,8,9, 10, 11, 12, 13 (L=25 mm}; CRV 50BV30;

1/2" (12.7 mm): 10, 13, 14, 15, 17,19, 21 mm (L=76 mm),
1/4" (6.3 mm): 6, 7,8, 9, 10, 11, 12, 13 (L=50 mm); CRV 50BV30;

Ao 200mm; CrV;

a3 @3-6 mm (L=52 mm), @6-8 (L=58 mm),
@8-11 (L=66 mm), @11-14 (L=75 mm),
©14-18 (L=80 mm), @18-25 (L=88 mm);

S———0 8,9, 10,11, 12,13, 14,15,16,17,
18,19, 21, 22, 24 mm; CrV;

WM M3x0.5 (x3), M4x0.7 (x3), M5x0.8 (x3),
M6x1.0 (x3), M7x1.0 (x3), M8x1.25 (x3),
M10x1.5 (x3), M12x1.75 (x3), HSS M2;

M3, M4x0.7, M5x0.8, M6x1.0, M7x1.0,
M8x1.25, M10x1.5, M12x1.75, HSS M2;

NAROZNE ODBOJNIKI

1/2" (12.7 mm): E10, E11, E12, E14, E16,

T10, T15, T20, T25, T27, T30, T40,  e—— i L O;
\ 1/4" (6.3 mm): E4, E5, E6, E7, E8; CRV 50BV30; 45, T50. CV 6150: =—=oy—__ 200mm 0 - -
' ' ' _— .Kj:ﬂ | — 0 - ,
e[ ] 1/2"(12.7 mm); (127, 254 mm), (L— 2,25,3,4,5,6,7,8,10, 12 mm; CrV 6150 B —
GB Service tool cabinet with tools Uzywanie narzedzi recznych moze 147 (6.3 mm); (508, 101.6 mm); CRV 50BV30; Psr—_ 2%0mm ———0—— mm2

D Serviceschrank mit Werkzeugen

PL Szafka serwisowa z narzedziami
RUS CepBUCHBIN LKagh C MHCTPYMEHTaMu
UA CepsicHa Wwadka 3 iHCTpyMeHTaMmn
LT Serviso spintelé su jrankiais

LV Servisa skapis ar darbarikiem

CZ Servisni skfifika s nafadim

SK Servisna skrinka s naradim

H Szervizszekrény szerszamokkal
RO Cutie de service cu scule

E Armario para herramientas de servicio

F  Armoire a outils

P Armario de ferramenta

CN IEEREEE

by¢ niebezpieczne! Podczas pracy
stosowac¢ $rodki ochrony osobistej.
Uzywac¢ tylko sprawnych, nieuszko-
dzonych narzedzi. Narzedzia chro-
ni¢ przed dzie¢mi i zachowywaé
ostrozno$¢ w postugiwaniu sie nimi.

Use of hand tools may be dangerous!
Always use personal protection equip-
ment at work. Use only proper unda-
maged tools. Select the type and size
of tool according to intended application.
Do not overload tools. Keep tools away
from children. Use tools with proper care.

5906083

552908

TOYA SA., ul

Soltysowicka 13-15

51-168 Wroctaw, Poland; www.yato.com

1/2" (12.7 mm); CRV 50BV30;
1/2" (12.7 mm): 16, 21 mm; CRV 50BV30;

B 102" (12.7 mm); (255 mm),
E——_1——2 1/4" (6.3 mm); (152.4 mm); CRV 50BV30;

_ 12" (12.7 mm); (255 mm),
@G—rc— > /.
€ 1/4" (6.3 mm); (155 mm); CRV 6140;

144" (6.3 mm); (150 mm); CRV 50BV30;

v 1] 14" (6.3 mm): 4,55, 6.5 mm; AISI S2/ CrV 6150;

< ][] 1/4" (6.3 mm): PH1 (x2), PH2 (x2), PH3; AISI S2/ CrV 6150;
e[ ] 1/4"(6.3mm): PZ1, PZ2, PZ3; AISI S2/ CrV 6150;

s ] 1/4" (6.3 mm): T8, T10, T15, T20, T25, T30, T40; AIS| S2/ CrV 6150;
oEre ][ ] 1/4" (6.3 mm): 3, 4,5,6,7,8mm;AlSI S2/ CrV 6150

6.0x38, 2.0x75, 3.0x75, 4.0x100, 5.0x100, 6.0x100 mm; S2;

=" PHOx100, PH1x100, PH2x38, PH2x150, PH3x150 mm; S2;
T7x75, T8x75, T9x75, T10x100, T15x100, T20x100,
T25x100, T27x100 mm; S2;

===("___] 6.0x150 mm; PH2x150 mm; CrV 6150

30g;

Crv 6150;

=—t———"—3 30x150, 4.0x150,
5.0x150, 6.0x150,

8.0x150 mm; CrV 6150;

—c—— 8.0x112mm; CrvV 6150

12.5x152, 16.0x172 mm;

le———— #2, 200 mm;
A== ) #2,200mm;
O ) #2,200mm;

1] ) 1LED;

N
3mx 16 mm; 300 mm;
%: 0-150 mm

www.yato.com




